Best Va	Best Value Bid 1911-025			Centerline Supply			Kolob Industries LLC Mandel/US Standard					Osl	ourn Associat	es Inc	Rockv	all Hightech	Signs	Vulcan Signs/Aluminum				
	Signs and Blanks		Total Cost		\$165,893.25		_	\$155,223.60			\$32,882.65			\$132,596.97			\$286,305.41		\$107,233.88			
Opene	i 01/10/2019 @ 2:00 p.m.				. ,			. ,			,						,			. ,		
			_																			
				Unit	Delivery	Total	Unit	Delivery	Total	Unit	Deliveryin	Total	Unit	Delivery	Total	Unit	Delivery	Total	Unit	Delivery	Total	
#	Items	QTY	MUTCD	Price	in	Cost	Price	in	Cost	Price	Days	Cost	Price	in	Cost	Price	in	Cost	Price	in	Cost	
					Days			Days			,-			Days			Days			Days	3331	
1																						
#1-1	12" X 6" RECTANGLE	1		\$2.56	14	\$2.56	\$2.10	21	\$2.10	\$3.49	30	\$3.49	\$1.60	30	\$1.60	\$3.89	10	\$3.89	\$1.43		\$1.43	
#1-2	12" X 9" RECTANGLE	1		\$3.46	14	\$3.46	\$3.14	21	\$3.14	\$5.23	30	\$5.23	\$2.40	30	\$2.40	\$5.84	10	\$5.84	\$1.97		\$1.97	
#1-3	15" X 9" RECTANGLE	30		\$4.85	14	\$145.50	\$3.93	21	\$117.90	\$3	30	\$90	\$3	3	\$90	\$7.29	10	\$218.70	\$2.55		\$76.50	
#1-4	18" X 6" RECTANGLE	30		\$3.46	14	\$103.80	\$3.15	21	\$94.50	\$2.49	30	\$74.70	\$2.40	30	\$72.00	\$5.84	10	\$175.20	\$2.14		\$64.20	
#1-5	18" X 12" RECTANGLE	30		\$5.32	14	\$159.60	\$6.31	21	\$189.30	\$4.17	30	\$125.10	\$4.80	30	\$144.00	\$11.67	10	\$350.10	\$3.94		\$118.20	
#1-6 #1-7	21" X 15" RECTANGLE 24" X 6" RECTANGLE	1		\$7.86 \$4.54	14	\$7.86 \$4.54	\$9.21	21	\$9.21 \$4.20	\$9.10 \$4.18	30 30	\$9.10	\$6.98	30 30	\$6.98	\$17.02 \$7.78	10 10	\$17.02	\$5.89		\$5.89	
#1-7	24" X 10" RECTANGLE	1 200		\$4.54	14 14	\$4.54	\$4.20 \$7	21 21	\$4.20	\$4.18	30	\$4.18 \$886.00	\$3.20 \$5.33	30	\$3.20 \$1,066.00	\$12.97	10	\$7.78 \$2,594.00	\$2.69 \$4.38		\$2.69 \$876.00	
#1-0	24" X 12" RECTANGLE	10		\$6.81	14	\$68.10	\$8.42	21	\$84.20	\$5.31	30	\$53.10	\$6.40	30	\$64.00	\$15.56	10	\$155.60	\$5.36		\$53.60	
#1-10	24" X 15" RECTANGLE	1		\$10.35	14	\$10.35	\$10.51	21	\$10.51	\$10.41	30	\$10.41	\$8	30	\$8	\$19.45	10	\$19.45	\$6.63		\$6.63	
#1-11	24" X 18" RECTANGLE	100		\$10.45	14	\$1,045.00	\$12.63	21	\$1,263.00	\$7.97	30	\$797.00	\$9.60	30	\$960.00	\$23.34	10	\$2,334.00	\$8		\$800	
#1-12	30" X 3" RECTANGLE	200		\$7.55	14	\$1,510.00	\$2.61	21	\$522.00	\$2.14	30	\$428.00	\$2	30	\$400	\$4.86	10	\$972.00	\$1.91		\$382.00	
#1-13	30" X 24" RECTANGLE	150		\$17.74	14	\$2,661.00	\$21	21	\$3,150.00	\$13.30	30	\$1,995.00	\$16	30	\$2,400.00	\$38.90	10	\$5,835.00	\$13.03		\$1,954.50	
#1-14	36" X 12" RECTANGLE	10		\$10.29	14	\$102.90	\$12.65	21	\$126.50	\$7.97	30	\$79.70	\$9.60	30	\$96.00	\$23.34	10	\$233.40	\$8.07	30	\$80.70	
#1-15	36" X 18" RECTANGLE	20		\$15.90	14	\$318.00	\$19	21	\$380	\$11.97	30	\$239.40	\$14.40	30	\$288.00	\$35.01	10	\$700.20	\$12		\$240	
#1-16	36" X 24" RECTANGLE	25		\$20.77	14	\$519.25	\$25.33	21	\$633.25	\$15.95	30	\$398.75	\$19.20	30	\$480.00	\$46.68	10	\$1,167.00	\$15.78		\$394.50	
#1-17	36" X 30" RECTANGLE	15		\$22.08	14	\$331.20	\$31.67	21	\$475.05	\$19.94	30	\$299.10	\$24	30	\$360	\$58.35	10	\$875.25	\$19.94		\$299.10	
#1-18	42" X 30" RECTANGLE	5		\$37.80	14	\$189.00	\$37.10	21	\$185.50	\$24.25	30	\$121.25	\$28	30	\$140	\$68.08	10	\$340.40	\$23.18		\$115.90	
#1-19	42" X 36" RECTANGLE	1		\$42.50	14	\$42.50	\$44.52	21	\$44.52	\$43.75	30	\$43.75	\$33.60	30	\$33.60	\$81.69	10	\$81.69	\$27.83		\$27.83	
#1-20	48" X 24" RECTANGLE	100		\$28.35	14	\$2,835.00	\$33.91	21		\$21.28	30	\$2,128.00	\$25.60	30	\$2,560.00	\$62.24	10	\$6,224.00	\$20.92		\$2,092.00	
#1-21 #1-22	48" X 30" RECTANGLE 54" X 30" RECTANGLE	25 1		\$33.90 \$48.50	14 14	\$847.50 \$48.50	\$42.40 \$47.70	21 21	\$1,060.00 \$47.70	\$26.58 \$46.89	30 30	\$664.50 \$46.89	\$32 \$36	30 30	\$800 \$36	\$77.80 \$87.53	10 10	\$1,945.00 \$87.53	\$26.15 \$29.72		\$653.75 \$29.72	
#1-22	72" X 36" RECTANGLE	1		\$78.50	14	\$78.50	\$76.92	21	\$76.92	\$75.01	30	\$75.01	\$57.60	30	\$57.60	\$140.04	10	\$140.04	\$48.17		\$48.17	
#1-24	72" X 42" RECTANGLE	1		\$83.50	14	\$83.50	\$89.73	21	\$89.73	\$87.54	30	\$87.54	\$67.20	30	\$67.20	\$163.38	10	\$163.38	\$53.49		\$53.49	
#1-25	30" OCTAGON	100		\$23.65	14	\$2,365.00	\$26.08	21	\$2,608.00	\$15.71	30	\$1,571.00	\$20	30	\$2,000.00	\$50	10	\$5,000.00	\$14.78		\$1,478.00	
#1-26	36" OCTAGON	100		\$30.16	14	\$3,016.00	\$37.56	21	\$3,756.00	\$22.63	30	\$2,263.00	\$28.80	30	\$2,880.00	\$72	10	\$7,200.00	\$21.22		\$2,122.00	
#1-27	36" X 36" PENTAGON	20		\$28	14	\$560	\$40.58	21	\$811.60	\$23.09	30	\$461.80	\$28.80	30	\$576.00	\$72	10	\$1,440.00	\$20.28	30	\$405.60	
#1-28	36" X 36" X 36" TRIANGLE	20		\$14.67	14	\$293.40	\$40.58	21	\$811.60	\$13.49	30	\$269.80	\$22.40	30	\$448.00	\$38.90	10	\$778.00	\$11.21	30	224.20	
#1-29	18" CIRCLE	1		\$19.50	14	\$19.50	\$10.14	21	\$10.14	\$10.38	30	\$10.38	\$7.20	30	\$7.20	\$17.51	10	\$17.51	\$5.78	30	\$5.78	
#1-30	36" CIRCLE	10		\$29.89	14	\$298.90	\$40.58	21	\$405.80	\$24.94	30	\$249.40	\$28.80	30	\$288.00	\$70.02	10	\$700.20	\$23.33	30	233.30	
#1-31	24" X 24" SQUARE/DIAMOND	30		\$17.74	14	\$532.20	\$16.82	21	\$504.60	\$10.64	30	\$319.20	\$12.80	30	\$384.00	\$31.12	10	\$933.60	\$10.54		\$316.20	
#1-32	30" X 30" SQUARE/DIAMOND	50		\$20.40	14	\$1,020.00	\$26.29	21	\$1,314.50	\$16.61	30	\$830.50	\$20	30	\$1,000.00	\$48.63	10	\$2,431.50	\$16.49		824.50	
#1-33	36" X 36" SQUARE/DIAMOND	150		\$23.46	14	\$3,519.00	\$38	21	\$5,700.00	\$23.94	30	\$3,591.00	\$28.80	30	\$4,320.00	\$70.02	10	\$10,503.00	\$23.82		\$3,573.00	
#1-34 #1-35	30" X 9" 32" X 9"	25 25		\$15 \$15	14	\$375 \$375	\$7.91 \$8.45	21 21	\$197.75 \$211.25	\$5.30 \$5.81	30 30	\$132.50 \$145.25	\$6 \$6.40	30 30	\$150 \$160.00	\$14.59 \$15.56	10 10	\$364.75 \$389.00	\$4.88 \$5.55		\$122.00	
#1-35 #1-36	34" X 9"	25 25		\$15 \$15	14 14	\$375 \$375	\$8.45 \$8.96	21	\$211.25	\$5.81	30 30	\$145.25 \$153.50	\$6.40	30 30	\$160.00 \$170.00	\$15.56 \$16.53	10	\$389.00	\$5.55 \$5.91		\$138.75 \$147.75	
#1-36	36" X 9"	25		\$15	14	\$375	\$9.50	21	\$237.50	\$6.28	30	\$155.50	\$7.20	30	\$170.00	\$10.53	10	\$437.75	\$6.12		\$147.75 \$153.00	
#1-38	38" X 9"	25		\$15	14	\$375	\$10.06	21	\$257.50	\$6.81	30	\$170.25	\$7.60	30	\$190.00	\$18.48	10	\$462.00	\$6.27		\$156.75	
#1-39	40" X 9"	25		\$15	14	\$375	\$10.56	21	\$264.00	\$7.14	30	\$178.50	\$8	30	\$200	\$19.45	10	\$486.25	\$6.88		\$172.00	
#1-40	42" X 9"	25		\$18	14	\$450	\$11.11	21	\$277.75	\$7.47	30	\$186.75	\$8.38	30	\$209.50	\$20.42	10	\$510.50	\$7.08		\$177.00	
#1-41	44" X 9"	25		\$18	14	\$450	\$11.66	21	\$291.50	\$7.81	30	\$195.25	\$8.80	30	\$220.00	\$21.40	10	\$535.00	\$7.43	30	\$185.75	
#1-42	46" X 9"	25		\$18	14	\$450	\$12.21	21	\$305.25	\$8.14	30	\$203.50	\$9.20	30	\$230.00	\$22.37	10	\$559.25	\$7.76	30	\$194.00	
#1-43	48" X 9"	25		\$18	14	\$450	\$12.72	21	\$318.00	\$8.27	30	\$206.75	\$9.60	30	\$240.00	\$23.34	10	\$583.50	\$7.98		\$199.50	
#1-44	50" X 9"	25		\$18	14	\$450	\$13.24	21	\$331.00	\$8.81	30	\$220.25	\$10	30	\$250	\$24.31	10	\$607.75	\$8.48		\$212.00	
#1-45	52" X 9"	25		\$18	14	\$450	\$13.78	21	\$344.50	\$9.14	30	\$228.50	\$10.40	30	\$260.00	\$25.29	10	\$632.25	\$8.57		\$214.25	
#1-46	54" X 9"	25		\$19.25	14	\$481.25	\$14.33	21	\$358.25	\$9.47	30	\$236.75	\$10.78	30	\$269.50	\$26.26	10	\$656.50	\$9.29		\$232.25	
#1-47	56" X 9"	25		\$19.25	14	\$481.25	\$14.90	21	\$372.50	\$9.81	30	\$245.25	\$11.20	30	\$280.00	\$27.73	10	\$693.25	\$9.43		\$235.75	
#1-48	58" X 9"	25		\$19.25	14	\$481.25	\$15.41	21	\$385.25	\$10.14	30	\$253.50	\$11.60	30	\$290.00	\$28.20	10	\$705.00	\$9.51		\$237.75	
#1-49	60" X 9"	25 25		\$19.25	14	\$481.25	\$15.96	21	\$399.00	\$10.27	30	\$256.75	\$12	30	\$300	\$29.18	10	\$729.50	\$10.20		\$255.00	
#1-50 #1-51	62" X 9" 64" X 9"	25 25		\$19.25 \$19.25	14 14	\$481.25 \$481.25	\$16.53 \$17.03	21 21	\$413.25 \$425.75	\$10.80 \$11.14	30 30	\$270.00 \$278.50	\$12.40 \$12.80	30 30	\$310.00 \$320.00	\$30.15 \$31.12	10 10	\$753.75 \$778.00	\$10.69 \$10.42		\$267.25 \$260.50	
#1-51 #1-52	66" X 9"	25 25		\$19.25	14	\$481.25	\$17.03	21	\$425.75	\$11.14	30 30	\$278.50	\$12.80	30	\$320.00	\$31.12	10	\$802.25	\$10.42		\$250.50	
	30" X 9"	20		\$10.65	14	\$213.00		No Bid	No Bid	\$8.78	30	\$175.60	\$13.20	30	\$234.00	\$14.59	10	\$291.80	\$4.88		\$97.60	
.,1 55	30 7.3	20		710.03	14	7213.00			140 010	Ş0.76	30	7175.00	711.70	50	7234.00	717.33	10	7231.00	¥7.00	30	437.100	

			_						_			_			_			_		
#1-54	32" X 9"	25		\$10.65	14		No Bid	No Bid	No Bid	\$9.38	30	\$234.50	\$12.48	30	\$312.00	\$15.56	10	\$389.00	\$5.55	30 \$138.75
#1-55	34" X 9"	25		\$10.65	14	\$266.25	No Bid	No Bid	No Bid	\$9.95	30	\$248.75	\$13.26	30	\$331.50	\$16.53	10	\$413.25	\$5.91	30 \$147.75
#1-56	36" X 9"	20		\$12.40	14	\$248.00	No Bid	No Bid	No Bid	\$10.54	30	\$210.80	\$14.04	30	\$280.80	\$17.51	10	\$350.20	\$6.12	30 \$122.40
#1-57	38" X 9"	50		\$12.40	14	\$620.00	No Bid	No Bid	No Bid	\$11.11	30	\$555.50	\$14.82	30	\$741.00	\$18.48	10	\$924.00	\$6.27	30 \$313.50
#1-58	40" X 9"	50		\$12.40	14	\$620.00	No Bid	No Bid	No Bid	\$11.71	30	\$585.50	\$15.60	30	\$780.00	\$19.45	10	\$972.50	\$6.88	30 \$344.00
#1-59	42" X 9"	50		\$13.50	14	\$675.00	No Bid	No Bid	No Bid	\$12.30	30	\$615.00	\$16.35	30	\$817.50	\$20.42	10	\$1,021.00	\$7.08	30 \$354.00
#1-60	44" X 9"	50		\$13.50	14	\$675.00	No Bid	No Bid	No Bid	\$12.87	30	\$643.50	\$17.16	30	\$858.00	\$21.40	10	\$1,070.00	\$7.43	30 \$371.50
#1-61	46" X 9"	50		\$13.50	14	\$675.00	No Bid	No Bid	No Bid	\$13.47	30	\$673.50	\$17.94	30	\$897.00	\$22.37	10	\$1,118.50	\$7.76	30 \$388.00
#1-62	48" X 9"	50		\$15.55	14	\$777.50	No Bid	No Bid	No Bid	\$14.04	30	\$702.00	\$18.72	30	\$936.00	\$23.34	10	\$1,167.00	\$7.98	30 \$399.00
#1-63	50" X 9"	100		\$15.55	14	\$1,555.00	No Bid	No Bid	No Bid	\$14.63	30	\$1,463.00	\$19.50	30	\$1,950.00	\$24.31	10	\$2,431.00	\$8.48	30 \$848.00
#1-64	52" X 9"	50		\$15.55	14	\$777.50	No Bid	No Bid	No Bid	\$15.23	30	\$761.50	\$20.28	30	\$1,014.00	\$25.29	10	\$1,264.50	\$8.57	30 \$428.50
#1-65	54" X 9"	100		\$19.15	14	\$1,915.00	No Bid	No Bid	No Bid	\$15.80	30	\$1,580.00	\$21.03	30	\$2,103.00	\$26.26	10	\$2,626.00	\$9.29	30 \$929.00
#1-66	56" X 9"	25		\$19.15	14	\$478.75	No Bid	No Bid	No Bid	\$16.40	30	\$410.00	\$21.84	30	\$546.00	\$27.73	10	\$693.25	\$9.43	30 \$235.75
#1-67	58" X 9"	40		\$19.15	14	\$766.00	No Bid	No Bid	No Bid	\$16.96	30	\$678.40	\$22.62	30	\$904.80	\$28.20	10	\$1,128.00	\$9.51	30 \$380.40
#1-68	60" X 9"	20		\$23.50	14	\$470.00	No Bid	No Bid	No Bid	\$17.56	30	\$351.20	\$23.40	30	\$468.00	\$29.18	10	\$583.60	\$10.20	30 \$204.00
#1-69	62" X 9"	20		\$23.50	14	\$470.00	No Bid	No Bid	No Bid	\$18.16	30	\$363.20	\$24.18	30	\$483.60	\$30.15	10	\$603.00	\$10.69	30 \$213.80
#1-70	64" X 9"	20		\$23.50	14	\$470.00	No Bid	No Bid	No Bid	\$18.73	30	\$374.60	\$24.96	30	\$499.20	\$31.12	10	\$622.40	\$10.42	30 \$208.40
#1-71	66" X 9"	1		\$23.50	14	\$23.50	No Bid	No Bid	No Bid	\$19.32	30	\$19.32	\$25.74	30	\$25.74	\$32.09	10	\$32.09	\$10.81	30 \$10.81
2																				
#2-1	30" STOP SIGN	100	R1-1	\$62.50	14	\$6,250.00	\$60.25	21	\$6,025.00	No Bid	No Bid	No Bid	\$47.38	30	\$4,738.00	\$104.13	10	\$10,413.00	\$39.85	30 \$3,985.00
#2-2	36" STOP SIGN	100	R1-1	\$90	14	\$9,000.00	\$86.92	21	\$8,692.00	No Bid	No Bid	No Bid	\$68.22	30	\$6,822.00	\$149.94	10	\$14,994.00	\$57.37	30 \$5,737.00
#2-3	36" X 36" X 36" YIELD SIGN	10	R1-2	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$53.06	30	\$530.60	\$149.94	10	\$1,499.40	\$27.64	30 \$276.40
#2-4	6" X 18" ALL WAY	100	R1-4	\$7.50	14	\$750.00	\$7.23	21	\$723.00	No Bid	No Bid	No Bid	\$5.69	30	\$569.00	\$12.50	10	\$1,250.00	\$5.29	30 \$529.00
#2-5	30" X 24" 20 MPH SPEED LIMIT	1	R2-1	\$50	14	\$50	\$48.20	21	\$48.20	No Bid	No Bid	No Bid	\$37.90	30	\$37.90	\$83.30	10	\$83.30	\$33.02	30 \$33.02
#2-6	30" X 24" 25 MPH SPEED LIMIT	10	R2-1	\$50	14	\$500	\$48.20	21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02	30 \$330.20
#2-7	30" X 24" 30 MPH SPEED LIMIT	100	R2-1	\$50	14	\$5,000.00	\$48.20	21	\$4,820.00	No Bid	No Bid	No Bid	\$37.90	30	\$3,790.00	\$83.30	10	\$8,330.00	\$33.02	30 \$3,302.00
#2-8	30" X 24" 35 MPH SPEED LIMIT	100	R2-1	\$50	14	\$5,000.00	\$48.20	21	\$4,820.00	No Bid	No Bid	No Bid	\$37.90	30	\$3,790.00	\$83.30	10	\$8,330.00	\$33.02	30 \$3,302.00
#2-9	30" X 24" 40 MPH SPEED LIMIT	50	R2-1	\$50	14	\$2,500.00	\$48.20	21	\$2,410.00	No Bid	No Bid	No Bid	\$37.90	30	\$1,895.00	\$83.30	10	\$4,165.00	\$33.02	30 \$1,651.00
#2-10	30" X 24" 45 MPH SPEED LIMIT	50	R2-1	\$50	14	\$2,500.00	\$48.20	21	\$2,410.00	No Bid	No Bid	No Bid	\$37.90	30	\$1,895.00	\$83.30	10	\$4,165.00	\$33.02	30 \$1,651.00
#2-11	30" X 24" 50 MPH SPEED LIMIT	10	R2-1	\$50	14	\$500	\$48.20	21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02	30 \$330.20
#2-12	30" X 24" 55 MPH SPEED LIMIT	10	R2-1	\$50	14	\$500	\$48.20	21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02	30 \$330.20
#2-13	24" X 24" NO RIGHT TURN	20	R3-1	\$40	14	\$800	\$44.41	21	\$888.20	No Bid	No Bid	No Bid	\$30.32	30	\$606.40	\$66.64	10	\$1,332.80	\$26.88	30 \$537.60
#2-14	36" X 36" NO RIGHT TURN	10	R3-1	\$90	14	\$900	\$100	21	\$1,000.00	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$61.40	30 \$614.00
#2-15	24" X 24" NO LEFT TURN	10	R3-2	\$40	14	\$400	\$44.41	21	\$444.10	No Bid	No Bid	No Bid	\$30.32	30	\$303.20	\$66.64	10	\$666.40	\$26.88	30 \$268.80
#2-16	36" X 36" NO LEFT TURN	10	R3-2	\$90	14	\$900	\$100	21		No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$61.40	30 \$614.00
#2-17	24" X 24" NO TURN	10	R3-3	\$40	14	\$400	\$38.56	21	\$385.60	No Bid	No Bid	No Bid	\$30.32	30	\$303.20	\$66.64	10	\$666,40	\$26.41	30 \$264.10
#2-18	24" X 24" NO U TURN SYMBOL	15	R3-4	\$40	14	\$600	\$44.41	21	\$666.15	No Bid	No Bid	No Bid	\$30.32	30	\$454.80	\$66.64	10	\$999.60	\$26.88	30 \$403.20
#2-19	36" X 36" NO U TURN SYMBOL	15	R3-4	\$90		\$1,350.00	\$100	21		No Bid	No Bid	No Bid	\$68.22	30	\$1,023.30	\$149.94	10	\$2,249.10	\$61.40	30 \$921.00
#2-20	36" X 30" LEFT ARROW ONLY	15	R3-5L	\$75		\$1,125.00	\$72.45	21		No Bid	No Bid	No Bid	\$56.85	30	\$852.75	\$124.95	10	\$1,874.25	\$49.52	30 \$742.80
#2-21	36" X 30" RIGHT ARROW ONLY	15	R3-5R	\$75		\$1,125.00	\$72.45	21	. ,	No Bid	No Bid	No Bid	\$56.85	30	\$852.75	\$124.95	10	\$1,874.25	\$49.52	30 \$742.80
#2-22	36" X 30" STRAIGHT ARROW	10	R3-5a	\$75	14	\$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$495.20
	36" X 30" STRAIGHT / LEFT			7		****			V				,		700000	*		7 - ,	7	***************************************
#2-23	ARROW	10	R3-6L	\$75	14	\$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$495.20
WZ 23	36" X 30" STRAIGHT / RIGHT	10	NS OF	7,5		7750	Ş72.43		\$724.50	NO DIG	NO DIG	No bid	\$50.05	30	Ç500.50	Ç124.55	10	Ç1,245.50	Ç-5.52	30 3433.20
#2-24	ARROW	10	R3-6R	\$75	14	\$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$495.20
π2-24	30" X 30" LEFT LANE MUST TURN	10	113-011	7,5	14	0.7 د د	۶,72. 4 3	21	\$724.50	NO DIG	NO DIG	NO DIU	230.03	30	Ç300.30	7124.53	10	71,243.30	J43.32	30 3433.20
#2-25	LEFT	10	R3-7L	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30 \$412.60
π2-23	30" X 30" RIGHT LANE MUST	10	N3-7 L	JU2.JU	14	JU23.00	۶۵0.25	21	JUUZ.JU	INO DIU	INO DIU	INO DIU	05.14ب	30	۷+/۵.۵∪	J104.13	10	γ±,0+1.3U	J-1.20	30 9412.00
#2-26	TURN RIGHT	15	R3-7R	\$62.50	14	\$937.50	\$60.25	21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26	30 \$618.90
#2-20	TORN RIGHT	15	K5-7K	\$62.50	14	\$957.50	\$60.25	21	\$905.75	NO BIU	NO BIU	INO BIU	\$47.56	30	\$710.70	\$104.15	10	\$1,561.95	\$41.20	30 3010.90
#2 2 7	20" V 20" DICUT ONLY LEFT ONLY	10	D2 0M	¢63.50	1.4	¢635.00	¢60.25	21	¢603.50	No Did	No Did	No Did	¢47.20	20	¢472.90	¢104.13	10	¢1 041 30	¢41.26	20 6412 60
#2-27	30" X 30" RIGHT ONLY, LEFT ONLY	10	R3-8M	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30 \$412.60
#2.20	30" X 30" RIGHT ONLY, STRAIGHT	40	52.014	462.50		4625.00	450.05	24	4502.50		N 0' I		647.00	20	4472.00	440440	40	44 044 30	444.00	20 4442 52
#2-28		10	R3-8M	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30 \$412.60
#2 2C	30" X 30" LEFT ONLY,	1	D2 61	662.50		663.56	660.0-		660.05	N = 21 1	Nie O' I	N. S. I	647.00	20	647.00	610113	10	6101.12	644.35	20 646 25
#2-29	LEFT/STRAIGHT	1	R3-8L	\$62.50	14	\$62.50	\$60.25	21	\$60.25	No Bid	No Bid	No Bid	\$47.38	30	\$47.38	\$104.13	10	\$104.13	\$41.26	30 \$41.26
	30" X 30" STRAIGHT/RIGHT,		D2 65	460.75		465.55	465.5-						447.00			440		446		20 444 55
#2-30	RIGHT ONLY	1	R3-8R	\$62.50	14	\$62.50	\$60.25	21	\$60.25	No Bid	No Bid	No Bid	\$47.38	30	\$47.38	\$104.13	10	\$104.13	\$41.26	30 \$41.26
	36" X 30" DUAL RIGHT TURN	40	22.611	4		AA	4		470				456		4565.55	440		44.242.55		20 445- 22
#2-31	ONLY	10	R3-8M	\$75	14	\$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$495.20
	26" V 20" DUAL LEET TURY 25"																			
#2-32	36" X 30" DUAL LEFT TURN ONLY	10	R3-8M	\$75	14	\$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$495.20

									ı											
#2.22	36" X 30" LEFT ONLY,		52.014	475	4.4	472.45	24	670.45	N 5:1	N 0:1	N. D. I	456.05	20	456.05	4424.05	40	4424.05	440.50	20.4	-0.50
#2-33	STRAIGHT/RIGHT ARROW 36" X 36" U ONLY, LEFT ONLY	1	R3-8M	\$75	14 \$7		21	\$72.45	No Bid	No Bid	No Bid	\$56.85	30	\$56.85	\$124.95	10	\$124.95	\$49.52	30 \$ 4	
#2-34	36" X 30" TWO WAY LEFT TURN	1	R3-8UL	\$90	14 \$90	\$86.92	21	\$86.92	No Bid	No Bid	No Bid	\$68.22	30	\$68.22	\$149.95	10	\$149.95	\$59.43	30 \$5	59.43
#2-35	ONLY	10	R3-9a	\$75	14 \$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$ /	495.20
#2-36	36" X 24" CENTER LANE ONLY	10	R3-9b	\$60	14 \$600		21	\$579.50	No Bid	No Bid	No Bid	\$45.48	30	\$454.80	\$99.84	10	\$998.40	\$39.61		396.10
#2-36	30" X 24" BIKE LANE ONLY	15	R3-90	\$50	14 \$750		21	\$723.00	No Bid	No Bid	No Bid	\$45.46	30	\$568.50	\$83.30	10	\$1,249.50	\$33.02		495.30
#2-37	30" X 24" DO NOT PASS	10	R3-17 R4-1	\$50	14 \$750		21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02		330.20
#2-38	30" X 24" KEEP RIGHT SYMBOL	20	R4-1 R4-7	\$50	14 \$1,000.00		21	\$964.00	No Bid	No Bid	No Bid	\$37.90	30	\$758.00	\$83.30	10	\$1,666.00	\$33.02		660.40
#2-39	30" X 24" KEEP LEFT SYMBOL	20	R4-7 R4-8	\$50	14 \$1,000.00			\$964.00				-			-		\$1,666.00			
#2-40	30" X 30" DO NOT ENTER						21		No Bid	No Bid	No Bid	\$37.90	30	\$758.00	\$83.30	10		\$33.02		660.40
#2-41	36" X 36" DO NOT ENTER	10 10	R5-1 R5-1	\$62.50 \$90	14 \$625.00 14 \$900		21 21	\$602.50 \$869.20	No Bid No Bid	No Bid No Bid	No Bid No Bid	\$47.38 \$68.22	30 30	\$473.80 \$682.20	\$104.13 \$149.94	10 10	\$1,041.30 \$1,499.40	\$41.26 \$59.43		412.60 594.30
#2-42	24" X 36" WRONG WAY	10		\$60	-		21	\$579.50				-		\$454.80	\$149.94		\$998.40	\$39.43		396.10
#2-43	24" X 24" NO TRUCK SYMBOL	10	R5-1a R5-2	\$40	-				No Bid	No Bid	No Bid	\$45.48	30			10				
#2-44	30" X 30" NO TRUCK SYMBOL	10	-				21	\$444.10	No Bid	No Bid	No Bid	\$30.32 \$47.38	30	\$303.20	\$66.64	10	\$666.40	\$26.88		268.80
#2-45 #2-46	12" X 36" ONE WAY	30	R5-2	\$62.50 \$30	14 \$625.00 14 \$900		21 21	\$694.00 \$869.10	No Bid	No Bid No Bid	No Bid	\$47.38 \$22.74	30 30	\$473.80 \$682.20	\$104.13 \$49.98	10	\$1,041.30 \$1,499.40	\$41.73 \$19.82		417.30 594.60
			R6-1L R6-1R						No Bid		No Bid					10				
#2-47	12" X 36" ONE WAY	25	KO-1K	\$30	14 \$750	\$28.97	21	\$724.25	No Bid	No Bid	No Bid	\$22.74	30	\$568.50	\$49.98	10	\$1,249.50	\$19.82	30 34	495.50
H2 40	30" X 24" DO NOT STOP ON TRACKS	10	no e	Ć50	14 650	¢40.30	24	¢493.00	Ne Did	No Did	Ne Dis	ć27.00	20	6370.00	602.20	10	6022.00	633.03	20 44	220.20
#2-48	24" X 24" NO PEDESTRIAN	10	R8-8	\$50	14 \$500	\$48.20	21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02	30 \$3	330.20
#2-49	CROSSING	10	R9-3	\$40	14 \$400	\$44.41	21	\$444.10	No Bid	No Bid	No Bid	לכת ככ	30	\$202.20	¢cc ca	10	CECE AD	\$26.00	20 60	269 90
#2-49		10	K3-3	340	14 \$400	344.41	21	\$444.1U	INO DIO	NO DIU	INO DIQ	\$30.32	30	\$303.20	\$66.64	10	\$666.40	\$26.88	30 \$4	268.80
#2-50	15" X 9" PEDESTRIAN TRAFFIC SIGNAL	15	R10-3e	\$9.38	14 \$140.6	\$10.42	21	\$156.30	No Bid	No Bid	No Bid	\$7.11	30	\$106.65	\$15.62	10	\$234.30	\$7.68	20 61	115.20
#2-30	36" X 30" LEFT ON GREEN ARROV		K10-36	\$9.56	14 \$140.0	\$10.42	21	\$150.50	NO BIU	INO BIU	NO BIU	\$7.11	30	\$106.65	\$15.02	10	\$234.30	\$7.08	30 \$1	115.20
#2-51	ONLY	10	R10-5	\$75	14 \$750	\$72.45	21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	20 6/	495.20
#2-51	36" X 24" STOP HERE ON RED	10	R10-6	\$60	14 \$600		21	\$579.50	No Bid	No Bid	No Bid	\$45.48	30	\$454.80	\$99.84	10	\$998.40	\$39.61		396.10
#2-32	30" X 24" DO NOT BLOCK	10	K10-0	300	14 3000	337.93	21	\$379.30	NO BIG	NO BIU	NO BIU	34J.40	30	3434.60	333.04	10	\$556.40	\$39.01	30 33	390.10
#2-53	INTERSECTION	10	R10-7	\$50	14 \$500	\$48.20	21	\$482.00	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.02	20 65	330.20
#2-53	36" X 30" LEFT TURN SIGNAL	10	R10-7	\$30 \$75	14 \$750		21	\$724.50	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52		495.20
#2-34	30" X 24" NO TURN ON RED	10	K10-10L	\$75	14 5/50	\$72.43	21	\$724.50	NO BIG	NO BIU	NO BIU	\$30.63	30	\$306.30	\$124.93	10	\$1,249.30	349.32	30 3.	195.20
#2-55	(BALL)	10	R10-11	\$50	14 \$500	\$55.52	21	\$555.20	No Bid	No Bid	No Bid	\$37.90	30	\$379.00	\$83.30	10	\$833.00	\$33.49	20 65	334.90
#2-33	48" X 36" NO TURN ON RED	10	K10-11	\$30	14 5500	333.32	21	\$333.20	NO BIG	NO BIU	NO BIU	\$37.50	30	\$379.00	\$65.50	10	\$655.00	\$55.45	30 33	334.90
#2-56	(BALL)	1	R10-11	\$120	14 \$120	\$133.66	21	\$133.66	No Bid	No Bid	No Bid	\$90.96	30	\$90.96	\$199.92	10	\$199.92	\$81.47	30 \$8	21 <i>1</i> 7
#2-30	36" X 30" LEFT TURN YIELD ON	1	K10-11	\$120	14 9120	7133.00	21	\$133.00	Nobia	NO DIG	NO DIG	\$30.50	30	\$30.50	Ş133.32	10	\$133.32	301.47	30 00	,1.47
#2-57	GREEN (BALL)	10	R10-12	\$75	14 \$750	\$83.40	21	\$834.00	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.99	20 6/	499.90
#2-37	30" X 30" TURNING TRAFFIC	10	K10-12	\$75	14 3/30	365.40	21	\$634.00	INO BIU	NO BIU	NO BIU	\$30.63	30	\$308.30	\$124.93	10	\$1,249.30	349.99	30 3.	155.50
#2-58	MUST YIELD TO PEDESTRIAN	20	R10-15L	\$62.50	14 \$1,250.00	\$69.40	21	\$1,388.00	No Bid	No Bid	No Bid	\$47.38	30	\$947.60	\$104.13	10	\$2,082.60	\$42.21	30 ¢ 5	844.20
#Z-36	30" X 30" TURNING TRAFFIC	20	K10-13L	302.30	14 \$1,230.00	303.40	21	71,388.00	Nobia	NO DIG	NO DIG	547.56	30	\$547.00	J104.13	10	\$2,082.00	J42.21	30 00	344.20
#2-59	MUST YIELD TO PEDESTRIAN	10	R10-15R	\$62.50	14 \$625.00	\$69.40	21	\$694.00	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$42.21	30 \$ /	422.10
#2-35	36" X 30" U-TURN YIELD TO RIGH		K10-13K	302.30	14 3023.00	305.40	21	\$094.00	NO BIG	NO BIU	NO BIU	347.36	30	3473.60	\$104.13	10	\$1,041.30	342.21	30 3.	122.10
#2-60	TURN	10	R10-16	\$75	14 \$750	\$72.44	21	\$724.40	No Bid	No Bid	No Bid	\$56.85	30	\$568.50	\$124.95	10	\$1,249.50	\$49.52	30 \$ /	495.20
#2-61	48" X 9" RAILROAD CROSSING	1	R15-1	\$30	14 \$30		21	\$29	No Bid	No Bid	No Bid	\$22.74	30	\$22.74	\$49.98	10	\$49.98	\$70.75	30 \$7	
#2-62	30" X 30" LEFT TURN ARROW	15	W1-1L	\$62.50	14 \$937.50		21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26		618.90
#2-63	30" X 30" RIGHT TURN ARROW	15	W1-1L W1-1R	\$62.50	14 \$937.50		21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26		618.90
#2-64	30" X 30" LEFT CURVE ARROW	15	W1-1K W1-2L	\$62.50	14 \$937.50		21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26		618.90
π ∠ =04	35 A 36 EEL LOUVE ANNOW	13	AA T-TF	JU2.30	14 2537.31	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	21	ر ۲.۵۰۰۶	INO DIU	INO DIU	INO DIU	00. ۱ جږ	30	7,10.70	J104.13	10	71,501.55	J-41.20	30 30	,13.30
#2-65	30" X 30" RIGHT CURVE ARROW	15	W1-2R	\$62.50	14 \$937.50	\$60.25	21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26	30 \$6	618.90
#2-66	30" X 30" LEFT REVERSE TURN	15	W1-2K W1-3L	\$62.50	14 \$937.50		21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26		618.90
#2 00	30 7 30 22. 1 112 7 2 1 3 2 1 3 1 1 1 1	13	WISE	\$02.50	14 9557.51	700.25		\$303.73	No bia	NO DIG	NO DIG	Ş47.50	30	\$710.70	Ç104.15	10	Ç1,501.55	Ş41.20	30 \$0	710.50
#2-67	30" X 30" RIGHT REVERSE TURN	15	W1-3R	\$62.50	14 \$937.50	\$60.25	21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26	30 \$6	618.90
#2-68	30" X 30" LEFT REVERSE CURVE	15	W1-4L	\$62.50	14 \$937.50		21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26		618.90
#2-69		15	W1-4L	\$90	14 \$1,350.00			\$1,303.80	No Bid	No Bid	No Bid	\$68.22	30	\$1,023.30	\$149.94	10	\$2,249.10	\$59.43		891.45
03	TI T				1. 41,550.00	, , , , , , , , , , , , , , , , , , ,		,500.00		5.0	5.0	700.22	50	+1,020.00	Q2.3.3 /		,5.20	, , , , , ,	35 40	
#2-70	30" X 30" RIGHT REVERSE CURVE	15	W1-4R	\$62.50	14 \$937.50	\$60.25	21	\$903.75	No Bid	No Bid	No Bid	\$47.38	30	\$710.70	\$104.13	10	\$1,561.95	\$41.26	30 \$ 6	618.90
										-						-		•		
#2-71	36" X 36" RIGHT REVERSE CURVE	15	W1-4R	\$90	14 \$1,350.00	\$86.92	21	\$1,303.80	No Bid	No Bid	No Bid	\$68.22	30	\$1,023.30	\$149.94	10	\$2,249.10	\$59.43	30 \$8	891.45
#2-72	30" X 30" WINDING ROAD	1	W1-5L	\$62.50	14 \$62.50		21	\$60.25	No Bid	No Bid	No Bid	\$47.38	30	\$47.38	\$104.13	10	\$104.13	\$41.26	30 \$4	
#2-73	30" X 30" WINDING ROAD	1	W1-5R	\$62.50	14 \$62.50		21	\$60.25	No Bid	No Bid	No Bid	\$47.38	30	\$47.38	\$104.13	10	\$104.13	\$41.26	30 \$4	
	36" X 18" ONE DIRECTION LARGE				• • •							•			•					
#2-74	ARROW	1	W1-6L	\$45	14 \$4	\$43.46	21	\$43.46	No Bid	No Bid	No Bid	\$34.11	30	\$34.11	\$74.97	10	\$74.97	\$30.54	30 \$3	30.54

ı	48" X 24" ONE DIRECTION LARGE																		I		
#2-75	ARROW	15	W1-6L	\$80	1.4	\$1,200.00	\$77.40	21	\$1,161.00	No Bid	No Bid	No Bid	\$60.64	30	\$909.60	\$133.28	10	\$1,999.20	\$52.81	20	\$792.15
#2=73	36" X 18" ONE DIRECTION LARGE	13	VV 1-OL	300	14	\$1,200.00	377.40	21	\$1,101.00	NO BIU	NO BIU	NO BIU	300.04	30	\$505.00	\$133.26	10	\$1,999.20	\$32.61	30	\$792.13
#2-76	ARROW	1	W1-6R	\$45	14	\$45	\$43.46	21	\$43.46	No Bid	No Bid	No Bid	\$34.11	30	\$34.11	\$74.97	10	\$74.97	\$30.54	30	\$30.54
#2-70	48" X 24" ONE DIRECTION LARGE	1	VV1-010	Ş45	14	545	545.40	21	545.40	NO BIG	NO DIG	NO DIG	734.11	30	Ç34.11	\$74.57	10	\$74.57	\$30.34	30	,30.3 4
#2-77	ARROW	15	W1-6R	\$80	1/	\$1,200.00	\$77.40	21	\$1,161.00	No Bid	No Bid	No Bid	\$60.64	30	\$909.60	\$133.28	10	\$1,999.20	\$52.81	30	\$792.15
π2-//	36" X 18" TWO DIRECTION LARGE		VV1-010	Ç	14	\$1,200.00	\$77.40	21	\$1,101.00	NO BIG	NO DIG	NO DIG	Ş00.04	30	\$505.00	Ç133.20	10	\$1,555.20	JJ2.01	30	\$132.13
#2-78	ARROW	1	W1-7	\$45	14	\$45	\$43.46	21	\$43.46	No Bid	No Bid	No Bid	\$34.11	30	\$34.11	\$74.97	10	\$74.97	\$30.54	30	\$30.54
#Z-76	48" X 24" TWO DIRECTION LARGE	1	VV 1-7	Ş45	14	545	545.40	21	545.40	NO BIG	NO DIG	NO DIG	734.11	30	Ç34.11	\$74.57	10	\$74.57	\$30.34	30	,30.J4
#2-79	ARROW	15	W1-7	\$80	1/	\$1,200.00	\$77.40	21	\$1,161.00	No Bid	No Bid	No Bid	\$60.64	30	\$909.60	\$133.28	10	\$1,999.20	\$52.81	30	\$792.15
#Z-73	Alliow	13	VV 1-7	780	14	71,200.00	\$77.40	21	\$1,101.00	NO DIG	NO DIG	NO DIG	Ş00.04	30	\$505.00	Ç133.20	10	\$1,555.20	JJ2.01	30	\$752.15
#2-80	18" X 24" CHEVRON ALIGNMENT	50	W1-8	\$30	14	\$1.500.00	\$28.92	21	\$1.446.00	No Bid	No Bid	No Bid	\$22.74	30	\$1.137.00	\$49.98	10	\$2,499.00	\$19.82	30	\$991.00
#2-81	36" X 36" CROSS ROAD	10	W2-1	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43		\$594.30
#2-82	36" X 36" SIDE ROAD LEFT	10	W2-2L	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43		\$594.30
#2-83	36" X 36" SIDE ROAD RIGHT	10	W2-2R	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43		\$594.30
#2-84	36" X 36" T INTERSECTION	10	W2-4	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43		\$594.30
#2-85	36" X 36" ROUNDABOUT	5	W2-6	\$90	14	\$450	\$86.92	21	\$434.60	No Bid	No Bid	No Bid	\$68.22	30	\$341.10	\$149.94	10	\$749.70	\$59.43		\$297.15
				,,,,		7.55	70000		7.0				*****		70.12.20	7=10101		**	7001.0		
#2-86	36" X 36" STOP AHEAD (SYMBOL)	25	W3-1	\$90	14	\$2,250.00	\$100	21	\$2,500.00	No Bid	No Bid	No Bid	\$68.22	30	\$1,705.50	\$149.94	10	\$3,748.50	\$60.38	30	\$1,509.50
#2-87	36" X 36" YIELD AHEAD	15	W3-2	\$90		\$1,350.00	\$100		\$1,500.00	No Bid	No Bid	No Bid	\$53.06	30	\$795.90	\$149.94	10	\$2,249.10	\$60.38		\$905.70
#2-88	30" X 30" SIGNAL AHEAD	10	W3-3	\$62.50	14	\$625.00	\$78.55	21	\$785.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$42.68		\$426.80
#2-89	36" X 36" SIGNAL AHEAD	10	W3-3	\$90	14	\$900	\$113.26		\$1,132.60	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$60.85		\$608.50
1	36" X 36" THRU TRAFFIC MERGE	-				,			. ,									. ,			
#2-90	RIGHT	10	W4-1aTR	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
	36" X 36" THRU TRAFFIC MERGE	-						_								,	-	. ,	*		
#2-91	LEFT	10	W4-1aTL	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
	36" X 36" LEFT LANE ENDS																	. ,			
#2-92	SYMBOL	10	W4-2L	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
	36" X 36" RIGHT LANE ENDS																	. ,			
#2-93	SYMBOL	10	W4-2R	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-94	36" X 36" ADDED RIGHT LANE	1	W4-3R	\$90	14	\$90	\$86.92	21	\$86.92	No Bid	No Bid	No Bid	\$68.22	30	\$68.22	\$149.94	10	\$149.94	\$59.43	30	\$59.43
#2-95	36" X 36" ADDED LEFT LANE	1	W4-3L	\$90	14	\$90	\$86.92	21	\$86.92	No Bid	No Bid	No Bid	\$68.22	30	\$68.22	\$149.94	10	\$149.94	\$59.43	30	\$59.43
	36" X 36" DIVIDED HIGHWAY																				
#2-96	SYMBOL	10	W6-1	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-97	30" X 30" TWO WAY TRAFFIC	10	W6-3	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
#2-98	36" X 36" TWO WAY TRAFFIC	10	W6-3	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-99	36" X 36" BUMP	10	W8-1	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-100	36" X 36" DIP	10	W8-2	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-101	36" X 36" PAVEMENT ENDS	10	W8-3	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-102	30" X 30" LEFT LANE ENDS	10	W9-1L	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
#2-103	36" X 36" LEFT LANE ENDS	10	W9-1L	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-104	30" X 30" RIGHT LANE ENDS	10	W9-1R	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
#2-105	36" X 36" RIGHT LANE ENDS	10	W9-1R	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
#2-106	30" X 30" LANE ENDS MERGE LEFT	10	W9-2TL	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
#2-107	36" X 36" LANE ENDS MERGE LEFT	10	W9-2TL	\$90	14	\$900	\$86.92	21	\$869.20	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43	30	\$594.30
	30" X 30" LANE ENDS MERGE																				
#2-108		10	W9-2TR	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
	36" X 36" LANE ENDS MERGE																				
#2-109		10	W9-2TR	\$90	14	\$900	\$73.74	21	\$737.40	No Bid	No Bid	No Bid	\$68.22	30	\$682.20	\$149.94	10	\$1,499.40	\$59.43		\$594.30
#2-110	36" X 36" BICYCLE	20	W11-1	\$90	14	\$1,800.00	\$86.92	21	\$1,738.40	No Bid	No Bid	No Bid	\$68.22	30	\$1,364.40	\$149.94	10	\$2,998.80	\$59.43	30	\$1,188.60
	2011 V 2011 DEDECTRUM ADVANCE	20		462.50		44 250 00	460.05	24	44 205 00	N 5: I		N. 5: 1	447.00	20	40.47.60	440440	40	42.002.50	644.00	20	4005.00
#∠-111	30" X 30" PEDESTRIAN ADVANCE	20	W11-2	\$62.50	14	\$1,250.00	\$60.25	21	\$1,205.00	No Bid	No Bid	No Bid	\$47.38	30	\$947.60	\$104.13	10	\$2,082.60	\$41.26	30	\$825.20
#2 112	26" V 26" DEDECTRIAN ADVANCE	10	W11-2	\$00	10	ćooo	coc na	21	¢960.30	No n:4	No Pid	No Bid	\$68.22	20	6602.20	¢140.04	10	¢1 400 40	\$59.43	20	¢E04.30
	36" X 36" PEDESTRIAN ADVANCE 36" X 36" FIRE TRUCK SYMBOL	10	W11-2 W11-8R	\$90 \$90	14 14	\$900 \$90	\$86.92 \$86.92	21 21	\$869.20 \$86.92	No Bid No Bid	No Bid No Bid	No Bid	\$68.22	30 30	\$682.20 \$68.22	\$149.94 \$149.94	10 10	\$1,499.40 \$149.94	\$59.43		\$594.30 \$59.43
	36" X 36" FIRE TRUCK SYMBOL	1	W11-8K W11-8L	\$90 \$90	14	\$90 \$90	\$86.92	21	\$86.92	No Bid	No Bid	No Bid	\$68.22	30	\$68.22	\$149.94 \$149.94	10	\$149.94	\$59.43 \$59.43		\$59.43 \$59.43
#2-114	30" X 30"	•	AATT_OF	<i>γ5</i> υ	14	950	300.32	21	300.32	NO DIU	NO DIU	INO DIG	JU0.22	30	300.22	Ş143.34	10	3143.34	, , , , , , , , , , , , , , , , , , ,	30	,JJ.43
#2-115	WHEELCHAIR/HANDICAPPED	10	W11-9	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26	30	\$412.60
	30" X 30" GORE	10	W11-9 W12-1	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38 \$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26		\$412.60
"Z-110		10	AA 17. J	702.30	14	7023.00	700.23	21	700Z.JU	140 DIG	ito biu	140 DIU	y=1.JU	30	y=73.00	71U4.13	10	Y±,U+1.JU	Y-1.40	JU .	y .12.00

18" X 18" 10 MPH ADVISORY		1										1								
#2-117 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30	30	\$153.00
18" X 18" 15 MPH ADVISORY																				
#2-118 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30	30	\$153.00
18" X 18" 20 MPH ADVISORY																				
#2-119 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30	30	\$153.00
18" X 18" 25 MPH ADVISORY																				
#2-120 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30	30	\$153.00
18" X 18" 25 MPH ADVISORY																				
#2-121 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30	30	\$153.00
18" X 18" 35 MPH ADVISORY																				
#2-122 SPEED	10	W13-1	\$22.50	14	\$225.00	\$21.69	21	\$216.90	No Bid	No Bid	No Bid	\$17.06	30	\$170.60	\$37.49	10	\$374.90	\$15.30		\$153.00
#2-123 30" X 30" NO OUTLET	10	W14-2	\$62.50	14	\$625.00	\$60.25	21	\$602.50	No Bid	No Bid	No Bid	\$47.38	30	\$473.80	\$104.13	10	\$1,041.30	\$41.26		\$412.60
#2-124 NO OUTLET	10	W14-2aR	No Bid	No Bid	No Bid	\$19.32	21	\$193.20	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	\$104.13	10	\$1,041.30		No Bid	No Bid
#2-125 NO OUTLET	10	W14-2aL	No Bid	No Bid	No Bid	\$19.32	21	\$193.20	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid	\$104.13	10	\$1,041.30		No Bid	No Bid
#2-126 36" X 8" NO OUTLET SNS	1	W14-2a	\$20	14	\$20	\$19.32	21	\$19.32	No Bid	No Bid	No Bid	\$15.16	30	\$15.16	\$33.32	10	\$33.32	\$13.58		\$13.58
#2-127 24" X 18" SHARE THE ROAD	1	W16-1P	\$30	14	\$30	\$28.82	21	\$28.82	No Bid	No Bid	No Bid	\$22.74	30	\$22.74	\$49.98	10	\$49.98	\$19.82		\$19.82
#2-128 24" X 18" PHOTO ENFORCED	10	W16-10	\$30	14	\$300	\$28.92	21	\$289.20	No Bid	No Bid	No Bid	\$22.74	30	\$227.40	\$49.98	10	\$499.80	\$19.82		\$198.20
#2-129 36" X 36" ICE ON BRIDGE	20	W18-3	\$90		\$1,800.00	\$86.92		\$1,738.40	No Bid	No Bid	No Bid	\$68.22	30	\$1,364.40	\$149.94	10	\$2,998.80	\$59.43		\$1,188.60
#2-130 30" X 24" BIKE ROUTE	20	D11-1	\$50		\$1,000.00	\$48.20	21	\$964.00	No Bid	No Bid	No Bid	\$37.90	30	\$758.00	\$83.30	10	\$1,666.00	\$33.02		\$660.40
#2-131 24" X 24" HOSPITAL	10	D9-2	\$40	14	\$400	\$38.56	21	\$385.60	No Bid	No Bid	No Bid	\$30.32	30	\$303.20	\$66.64	10	\$666.40	\$26.41		\$264.10
#2-132 36" ADVANCED CROSSWALK	25	S1-1	\$90	14	\$2,250.00	\$86.92	21	\$2,173.00	No Bid	No Bid	No Bid	\$68.22	30	\$1,705.50	\$149.94	10	\$3,748.50	\$57.60	30	\$1,440.00
#2 422 19" V 12" NO DADVING ANV TIME	10	D7 4D	612	1.4	ć120	610.70	21	ć107.00	N - D:-l	N - Did	N - Did	60.00	20	ć00.20	616.74	10	¢1.67.40	67.10	20	ć74 20
#2-133 18" X 12" NO PARKING ANY TIME	10	R7-1D	\$12	14	\$120	\$10.78	21	\$107.80	No Bid	No Bid	No Bid	\$8.82	30	\$88.20	\$16.74	10	\$167.40	\$7.12	30	\$71.20
#2 424 40" V 42" NO DARVING ANV TIME	10	D7 41	612	1.4	\$120	\$8.58	24	\$85.80	N - D:-I	N- Did	N - Did	60.00	20	\$88.20	646.74	10	\$167.40	67.12	20	ć74 20
#2-134 18" X 12" NO PARKING ANY TIME	10	R7-1L	\$12	14	\$120	\$8.58	21	\$85.80	No Bid	No Bid	No Bid	\$8.82	30	\$88.20	\$16.74	10	\$167.40	\$7.12	30	\$71.20
#2-135 18" X 12" NO PARKING ANY TIME	10	D7 1D	612	1.4	6120	610.70	24	6407.00	N - D:-I	N- Did	N - Did	60.00	20	600.20	646.74	10	Ć1 C7 40	67.12	20	ć74 20
#2-135 16 X 12 NO PARKING ANT TIME	10	R7-1R	\$12	14	\$120	\$10.78	21	\$107.80	No Bid	No Bid	No Bid	\$8.82	30	\$88.20	\$16.74	10	\$167.40	\$7.12	30	\$71.20
#2-136 24" X 18" NO PARKING ANY TIME	20	R7-1D	\$24	14	\$720	\$21.55	21	\$646.50	No Bid	No Bid	No Bid	\$17.64	30	\$529.20	\$33.48	10	\$1,004.40	\$13.60	20	\$408.00
#2-136 24 X 18 NO PARKING ANT TIME	. 30	K7-1D	\$24	14	\$720	\$21.55	21	\$646.50	NO BIU	NO BIU	INO BIU	\$17.04	30	\$529.20	\$33.46	10	\$1,004.40	\$13.00	30	\$408.00
#2-137 24" X 18" NO PARKING ANY TIME	20	R7-1L	\$24	14	\$720	\$17.17	21	\$515.10	No Bid	No Bid	No Bid	\$17.64	30	\$529.20	\$33.48	10	\$1,004.40	\$13.60	20	\$408.00
#2-137 24 X 18 NO PARKING ANT TIME	30	K/-IL	\$24	14	\$720	\$17.17	21	\$515.10	NO BIU	NO BIU	INO BIU	\$17.04	30	\$529.20	\$33.46	10	\$1,004.40	\$13.00	30	\$408.00
#2-138 24" X 18" NO PARKING ANY TIME	15	R7-1R	\$24	14	\$360	\$21.55	21	\$323.25	No Bid	No Bid	No Bid	\$17.64	30	\$264.60	\$33.48	10	\$502.20	\$13.60	20	\$204.00
24" X 18" NO PARKING ANT THE		V/-TV	<i>324</i>	14	<i>9300</i>	241.33	21	3323.23	INO DIU	NO DIU	INU DIU	317.04	30	\$204.00	<i>333.</i> 40	10	<i>33</i> 02.20	\$13.00	30	3204.00
#2-139 OR STANDING	15	R7-1M	\$24	14	\$360	\$17.17	21	\$257.55	No Bid	No Bid	No Bid	\$17.64	30	\$264.60	\$33.48	10	\$502.20	\$13.60	20	\$204.00
18" X 12" RESERVED PARKING	13	K/-TIVI	Ş24	14)JOC¢	\$17.17	21	\$257.55	INO BIO	INO DIU	INU DIQ	\$17.04	30	\$204.00	\$33.46	10	\$5UZ.ZU	\$15.00	30	3204.00
#2-140 FOR HANDICAPPED	10	R7-8	\$12	14	\$120	\$12.97	21	\$129.70	No Bid	No Bid	No Bid	\$8.82	30	\$88.20	\$16.74	10	\$167.40	\$7.60	20	\$76.00
#2-140 FOR HANDICAPPED #2-141 6" X 12" VAN ACCESSIBLE	10	R7-8a	\$12	14	\$120	\$3.58	21	\$35.80	No Bid	No Bid	No Bid	\$2.94	30	\$29.40	\$5.58	10	\$55.80	\$2.63		\$26.30
#2-141 6 X 12 VAN ACCESSIBLE #2-142 24" X 18" CRIME WATCH	50	NW-11	\$24		\$1,200.00	\$3.56 \$25.94		\$1.297.00	No Bid	No Bid	No Bid	\$17.64	30	\$882.00	\$33.48	10	\$33.80	\$14.09		\$704.50
TZ-142 24 X 10 CHINE WATCH	JU	IAAA-TT	<i>ې</i> 24	14	71,200.00	Ş ZJ.74	21	J1,271.00	וזט טונו	NO DIU	INU DIU	317.04	30	3002.UU	<i>333.</i> 40	10	1,074.00	₹14.09	30	9704.3U